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6 Inthe diagram, CDE is parallel to FG.
ADG and BDF are straight lines.
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(a) Complete the sentence with a reason.
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(b) Work out angle y.
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6 Inthe diagram, CDE is parallel to FG.
ADG and BDF are straight lines.
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(b) Work out angle y.



XY and BD are parallel lines. Video created by W Neill
X is a point on AB and C is a point on BD.

XB = XC.
i (a) Complete this sentence.
Angle XBC = 65° because ............cccccerrecnnranen.
X 65° S

X (b) Work out angle BXC.
Give a reason for each angle you work out.
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6 XY and BD are parallel lines.
X is a point on AB and C is a point on BD.
XB = XC.

L qs it is isosceles

~

B >
c L/ D
bqse Qrﬂ les

e f’fi val.

Video created by W Neill

(a) Complete this sentence.

Angle XBC = 65° because .!k...@?iﬁ@ﬁ@ﬂ.@& wilh

Gvg\g A—)(y

(b) Work out angle BXC.
Give a reason for each angle you work out.
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In the diagram, AB is parallel to DC.
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Work out angle BDC.
Give a reason for each angle you work out.
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7  Inthe diagram, AB is parallel to DC. Created by W Neill
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Work out angle BDC. 0 ’
Give a reason for each angle you work out. A’f‘jle ROC = M—t as F s
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19 Two congruent, isosceles triangles are joined, as shown, to form a parallelogram.

The largest angle of the parallelogram is 110°.
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Write two equations.
Solve them to find the value of a and the value of b.
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19 Two congruent, isosceles triangles are joined, as shown, to form a parallelogram.

The largest angle of the parallelogram is 110°.
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Write two equations.
Solve them to find the value of a and the value of b.
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110°

ABC 1s a straight line.
BD=CD
Angle ABD = 110°

Show that angle BDC = 40°

Give a reason for each stage of your working.
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(Total for Question 15 is 4 marks)
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ABCD 1s a parallelogram.
EDC is a straight line.

F 1s the point on 4D so that BFFE is a straight line.

Angle EFD = 35°
Angle DCB = 75°

Show that angle ABF = 70°
Give a reason for each stage of your working.
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(Total for Question 25 is 4 marks)
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(Total for Question 25 is 4 marks)
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BCD is a straight line.
ABC 1s a triangle.

Show that triangle ABC is an isosceles triangle.
Give a reason for each stage of your working.

(Total for Question 7 is 4 marks)
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BCD is a straight line. e RAC 630
ABC is a triangle. C:”j 4 % =
Show that triangle 4BC is an isosceles triangle. b@cquge an fes (0 q A C,‘dq'
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(Total for Question 7 is 4 marks)



14 The diagram shows quadrilateral ABCD with each of its sides extended. ViceoiCremenby i el
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AB = AD

Show that ABCD 1s a kite.
Give a reason for each stage of your working.

(Total for Question 14 is 4 marks)




14 The diagram shows quadrilateral 4ABCD with each of its sides extended. ViceoiCremenby i el
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AB = AD

Show that ABCD 1s a kite.
Give a reason for each stage of your working.
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POR 1s a straight line parallel to ST.
QUT 1s an equilateral triangle.

Angle STO = 105°

Work out the value of x.
Give a reason for each stage of your working.

(Total for Question 17 is 4 marks)
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Work out the value of x.
Give a reason for each stage of your working.
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(Total for Question 17 is 4 marks)
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Video created by W Neill

In the diagram, 4BC 1s a straight line.

Work out the size of the angle marked x.
You must give a reason for each stage of your working.

(Total for Question 13 is 4 marks)




13 Video created by W Neill
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In the diagram, 4BC is a straight line. an '0 A’ DB asS b‘tS@ G"\j’ﬁ i\ G
Work out the size of the angle marked x. Liia ﬁﬂe Gie QC(UQ( :

You must give a reason for each stage of your working.
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22 BEG is a triangle. Video Created by W Neill
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ABC and DEF are parallel lines.

Work out the size of angle x.
Give a reason for each stage of your working.

(Total for Question 22 is 4 marks)




22 BEG is a triangle. Video Created by W Neill
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Give a reason for each stage of your working.

ABC and DEF are parallel lines.

(Total for Question is 4 marks)
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In the diagram 4BC and DEFG are parallel lines.
Angle ABE = x°
EB=FEF

|
Show that w = 90 + —x

Give a reason for each stage of your working.

(Total for Question 9 is 4 marks)




Created by W Neill
4 &
o
Pmahz_ REF = =
J &s g H;equ'e <‘rﬂ[€5
o Gre é?uqf
D N
In the diagram 4ABC and DEFG are parallel lines. An le | grd 2 are é?tﬂ»[ Qs
Angle ABE = x° i o
EB&: EF : EL\& Ejf'lﬂhs\ﬂ s ISOSCC[E»S .
Show that w = 90 + %x
- : - I
Give a reason for each stage of your working. 2 = (KO - X
‘ o l
Sfjm.‘jhk \ae addls Co R0 Cio - /Zx

9 Ve + W <130

(%6 <(%0
. / (Total for Question 9 is 4 marks)



AQA



Video created by W Neill
18 ABCD is a quadrilateral.

G4-5-6 Sides are extended as shown.

Not drawn
accurately

Show that x = 100°

[3 marks]
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18 ABCD is a quadrilateral.

G4-5-6 Sides are extended as shown.
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16 (a) BCD is a straight line.

Triangle ABC is equilateral.
G4

G5 CE =DE Work out the size of angle x. [4 marks]

Not drawn
accurately

Answer degrees
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16 (a) BCD is a straight line.

Triangle ABC is equilateral.

G4
G5 CE =DE Work out the size of angle x. [4 marks]
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15 Trapezium ABCE is made from parallelogram ABCD and isosceles triangle ADE.
AE = DE
G4
G5 A B Not drawn
H accuratel
BE 110 y
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Work out the size of angle AED.
[3 marks]

Answer degrees
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15 Trapezium ABCE is made from parallelogram ABCD and isosceles triangle ADE.
AE = DE
G4
G5 & B Not drawn
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22 ABCD is a parallelogram. Video created by W Neill
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Work out the size of angle x.  [4 marks]

Answer degrees
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ABCD is a parallelogram.
AB=BP A

Video created by W Neill
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Work out the size of angle x.  [4 marks] (*x - [ O 2
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